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PEZ v 00001 mg/ILLF 1 <0.000001 | <0.000001 | <0.000001| <0.000001 | <0.000001] <0.000001 | <0.000001 <0.000001 <0.000001}<0.000001<0.000001, <0.000001 <0.000001 0.000001] <0.000001 | <0.000001] <0.000001 | <0.000001] <0.000001 | <0.000001 <0.000001 12
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A REE A 02me/ILI T <0.002 <0.002 <0002 | <0.002 I 4
[ [oz/—L8 005ma/IT <0,0005 4|
[ 4 [HEMEHEREE(TOC) DE) me/ I
[ 47 [oHIE SUEBOLUT
[ [mk EETHNCE
CEd RETLLCE
[ 50 [ 5
EENE L
KEERERGTRHEE
AR KRS ] =
! Y RUZDIEEYD 15mg/IAT 0003
2 UEDILEN T (%) 0002
3 RUZDEEY 1mg/|IAT () 001
4 EEES D) T 0004
5 [bTy 001
o [DHLES -TF AT 005
7 E34 1 06
8 VEEVATSIY T (%) 001
[ o [@ksa5—L LT (E5E) 001
[0 B T CRBREAR) X
[ [FEEiEs 06
[ 12 |3 0mg/IAT 64 = - 73 39 58 F |
111-kJ70aTsy 3mg/ILAT <0.0005 - - <0.0005 | <0.0005 | <0.0005 | 2 |
| 1 AFL-t-TFLI—TIL 02mg/ILLT <0.001 - - <0.001 <0.001 <0.001
[ mg/ LT 13 = - 13 0.2 08
[ LT < = = < < <
[ ! -1~ 24 - - 24 -2 26
20008 % #/mi LU T (87%). 12 0 0 0 0 0 0 1
0.1mg/ILL T 2 <0.001 - — <0.001 <0.001 <0.001
AL o5
2L (PFOS) B
20 |NMVINMTEISLANEVBEPFOSIRY  |UALDLAEASS |
A WINAEE)3UB(PFOA) 8 (PFOA) D £ D
&L T0.00005mg/LEL
TE®)
KB EE B REDLOMA N EBALNZE
IREREEE
&S BERE IKEARE A H2723 [ H2733 | R|X B
INEFTEES (S/m) [KBEEGL — = = =
2 [7LhuE (mg/|) [KEEELL = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = =
3|51 80 IE (£260) KEEELL = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = =
4 7oE=TREE (me/l) | KEEHHL - = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = =
s [puFkzRUSY L [ﬁ;ﬁ 3;;3{] KEEELL 2 - - - 0 - - - - - 0 - - 0 0 0 2 - - - 0 - - - - - 0 - - 0 0 0 2
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10 [pOa7ba Cu e/ PREEHL = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = =




TR25—HH4EE KRBRERER Bk Bk L33 KEA)

KERERER T
& RE R H2758 | 12762 H27106
= 153 228 164
— 100 132 135
100 A mBL T 0 0 0
2 [Zme HEnCE TRE | TBE TR
[ 3 [HFSOLRUZDIEED 003me/ILLT 4 <0.0003 <0.0003
[ ¢ [XERUZOEED 0005me/IEL T 4 = — [ <0.00005 <0.00005
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IR EETES 002mg/IEL T [<oo00z | — — <0000z = — [<ooo0z| = — [ <0000z = = = — [<oo00z| = — <0000z = — [<oo00z| = — [ <0.0002 | <0.0002 | <00002
7S 5me/ 1L [<00005 | = — <0005 = = [<oo0005 | — — <0005 = = = = [<oo0005 | = — <0005 = = [<o0005 | = — [ <0.0005 | <0,0005 | <0.0005 | 4 |
16 0.04mg/IAT 4 || <0001 - - | <0001 - - | <001 - - <0001 - - - - | <0001 - - | <0001 - - | <0001 - — | <0001 | <0001 | <0001 | 4
2me/ LT [<o001 = — [ <0001 = — [ <0001 = = 0001 = = = — [ <001 = — [ <0001 = — [ <0001 = — [ <ooor | <0001 | <0001 | 4
me/IL [<oooos [ — — <0005 [ — — [<oooos | — — <0005 [ — = = — [<oooos | — — [<oo00s| — — [<oooos | — — [ 00005 00005 | <00005 | 4
me/IL [<oo005 [ — — <0005 [ — — [<ooo0s | — — <0005 [ — = = — [<ooo0s | — — [<oo005| — — [<oooos | — — [ 00005 <00005 | <00005 | 4
[ me/IE [<0001 = — [ <0001 — — [ <0001 = = <0001 = — = — [ <0001 = — [ <0001 = — [ <0001 = — | <0001 | <0001 | <0001 | 4
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2me/\L T [<o001 — — 001 — — [ <0001 — — 001 = — = — 00 — — 001 — — 00 — 001 001 001 | 4
6me /1T T <0001 | <0001 | <0001 | <0001 | <0001 | <0001 | <0001 | <0001 | <0001 001 | <0001 | <0001 <0001 | <0001 001 | <0001 | <000t 001 | <0001 | <0001 001 | <0001 | <0001 001 001 001 | 12
Amg /1T T 001 _| <0001 | <0001 001 | 0001 | 0001 | <0001 | 0002 | 0001 | <000i | <0001 | <0001 <0001 | <0001 001 | <0001 | <0001 | <0001 | <0001 | <000f 001 | <0001 | <0001 | <0001 001 001 | 12
[ ma/ LT 12 |[—000i | 0001 | oo0of 001 | <0007 | 0001 001 | 0001 | <0001 001 | 0001 | 0001 <0001 | <0001 001 | <0001 | 0001 001 | 0001 | <0001 001 | 0001 | 0001 001 001 001 | 12
[ me/IE T 12 | [ <0001 | <0001 | <0001 001 | <0001 | <0007 | <0001 | <0001 | <000t 001 | <0001 | <0001 <0001 | <0001 001 | <0001 | <0007 001 | <0001 | <0001 001 | <0001 | <0007 001 001 001 | 12
2 aEIAnssy, 7% JAnss [0 1mg/ILT 12 || 0002 | o002 | o001 | 0002 | <0001 | 0002 | 0001 | 0002 | <0001 | 0001 | 0001 | 0001 <0001 | <0001 | <0001 | <0001 | 0001 | 0001 | 0001 | <0001 | <0001 [ 0001 | 0001 | 0002 | <0001 | <0001 | 12
D
T — | <0001 — — [ <0001 = — = <0001 001 | 4 |[ <0001 = = 001 = = = = 001 = = 001
T T <0001 001 | <0001 | 0001 | <0001 | 0001 | <0001 <0001 <0.001 001 | 12 |[~0001 | <0001 | <0001 001 | <0001 | <0001 <0001 | <0001 001 | <0001 | <0001 001
i i <0001 | <0001 | <0001 | <0007 | <0001 | <0001 | <0.00f <0.001 [ <0001 001 | 12 | [<0.001 | <0001 | <0001 | <0001 | <0001 | <000t <0001 | <0001 | <0001 | <0001 | <0001 001
i T - 003 [ — — [ <0003 - - - [ <0003 [ <0003 | 4 |[<0003 [ — - 003 - — — - 003 - — 003
B = 002 = — [ <0002 — — — [ <0002 | <0002 | 4 | — — 002 — = = — 002 — — 002
i T T <001 1| <001 | <oo1 0i | <oor | <oo1 <001 1 o [ 1 <001 | <001 01 | <001 | <oot <001 | <001 01 | <001 | <oot 01
i AT i <001 1| <001 | <oor | <00i | <001 | <oof <001 <001 o [ 12 <001 | <001 i | <001 [ <oof <001 | <001 01 | <001 | <oot 01
i - I - - 001 - - - <0001 | <0001 | 4 | - - T - - - — [ <0001 - — [ <ooot
T — — — 17 — — — 3 | 4 — = = = = = = — 1
T T <0001 | <0001 | <0001 | <0001 | <0001 | <0001 | <0001 <0001 <0001 | <0001 | 1: <0001 | <0001 | <0001 | <0001 | <0001 <0001 | <0001 | <0001 | <0001 | <0001 | <0001
T i 118 112 117 118 43 142 133 128 112 130 112 113 116 144 116 113 K] 108 4
T - 175 - - 86 — - - 175 - - - - — - 215 - — 3
[ T = 50 = = 76 = = = 0 = = = = = = 0 = = 2
mg/ I <002 <002 — — <007 — — — = 002 | <007 — = <007 = — — = <007 = — <007
PEZ v 00001 mg/ILLF 1 <0.000001 <0.000001] <0.000001] <0.000001| <0.000001] <0.000001 | <0.000001 <0.000001 | <0.000001}<0.000001]<0.000001, <0.000001] <0.000001] <0.000001] <0.000001 | <0.000001 0.000001] <0.000001| <0.000001] <0.000001 | <0.000001]<0.00000
2 AFNAIRLFA—IL 00001 mg/ILLF 1 <0.000001 <0.000001] <0.000001] <0.000001| <0.000001] <0.000001 | <0.000001 <0.000001 | <0.000001}<0.000001<0.000001, <0.000001] <0.00000 <0.000001 <0.000001 0.000001] <0.000001| <0.000001] <0.000001 | <0.000001]<0.00000
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2 [7LhuE (mg/|) [KEEELL = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = =
3|51 80 IE (£260) KEEELL = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = =
4 7oE=TREE (me/l) | KEEHHL - = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = =
s [puFkzRUSY L [ﬁ;ﬁ 3;;3{] KEEELL 2 - - - 0 - - - - - 0 - - 0 0 0 2 - - - 0 - - - - - o - - 0 0 0 2
6 |SPLUT [T;Z; g;;‘;{] KE R 2 - - - 0 - - - - - 0 - - 0 0 0 2 - - - 0 - - - - - 0 - - 0 0 0 2
T | REEFRER B/ 100m) [ KEEREL = = = = = = = = = = = = = = = o = = = = = = = = = = = = = = o
DNEFEICFED)] (mg/|) [ KEEELL = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = =
o |20 #U) (mg/l) [KEEHRL = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = =
10 [pOa7ba Cu e/ PREEHL = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = =
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[ ¢ [XERUZOEED 0005me/IEL T 4 <000005[  — — [<000005] —
L RUZOLED Olme/I 4 0.001 — — <0.001 —
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10 S APAAVRUEIL TS 1mg/ L <0.001 = = <0.001 = = <0.001 = = <0001 = <0001 = = <0.001 = = <0.001 = = <0.001 = = <0001 | <0001 1
U |EREERRU BB EER mg/ILAT - - - - - - - - - - - - - -
12 [7yRRUZDEED me/ LT — = = — < — = = = = = = = <0.05 = = <0.05
13 [FORRUEZDEED mg/IELT | <002 — — 2 — — <002 — — 2 — | — 2 — — <002 — — <002 | <002 [ <002 4|
IR EETES 002me/IELT- <0000z [ — — [<oo002 | — — [<o00z [ — — [<oo002 | — 4] — [<oo00z [ — — [<oo00z [ — — | <0.0002 | <0.0002 | <00002
05mg/IAT [<00005 [ — — [<o000s | — — [ <0005 [ — — [<o0005 | — | — [<oo0005 [ — — [<oo0005 [ — — | <0.0005 | <0.0005 | <00005 [ 4 |
004me/ 1L 4 || <0001 - - <0.001 - - <0.001 - - <0001 - 4 - <0.001 - - <0.001 - — | <0001 | <0001 | <0001 | 4
2me/ LT [<o001 = = <0001 = = <0001 = = 0001 = | = <0001 = = <0001 = — [ <ooor | <0001 | <0001 | 4
me/IL [<oooos [ — — <0005 [ — = [<00005 [ — — <0005 [ — | — [<oooos | — — [<oooos | — — [ 00005 00005 | <00005 | 4
me/IL [<oo005 [ — — <0005 [ — = [<00005 [ — — <0005 [ — | — [<ooo0s | — — [<oooos | — — [ 00005 <00005 | <00005 | 4
me/IE [<0001 = — <0001 — — <0.001 = = <0001 = = <0.001 = = <0.001 = — | <0001 | <0001 | <0001 | 4
ma/ILLT 12 || <006 | <006 | <006 06 | <006 | <008 06 | <006 | <006 06 | <006 12 | 006 06 | <006 006 06 | <006 | <006 06 06 06 | 12
2me/\L T [<o001 — — 00 — — <0.001 — — 001 = 001 001 — — 001 001 001 | 4
6me /1T 12 | [ <0001 | <0001 | <0001 001 | <0001 | <0001 | <0001 | <0001 | <000t 001 | <0001 ] <0001 | <0001 | <0001 <0001 001 | <0001 | <0001 001 001 001 | 12
Amg /1T T <0001 | <0001 | <0001 001 | <0001 | <0001 | <0001 | <0001 | <000t 001 | <0001 12 | <0001 001 | <0001 <0001 001 | <0001 | <0001 | <0001 001 001 | 1
ma/ LT 12 |[—000i | 0001 | oo0of 001 | 0001 | 0001 002 | 0002 | 0001 001 | 0001 T 0001 001 | 0001 0001 001 | <0001 | 0001 002 | <0001 001 | 12
me/IE T 12 | [ <0001 | <0001 | <0001 001 | <0001 | <0007 | <0001 | <0001 | <0007 001 | <0001 ] <0001 001 | <0001 <0001 001 | <0001 | <0001 001 001 001 | 12
2 aEIAnssy, 7% JAnss [0 1mg/ILT 12 || o001 | oot | ooor | <ooor | ooot | oooi | 0003 | 0002 | ooot | 0001 | 0001 12 || <0001 | 000z | ooor | o000t | oooi | 0003 | 0001 | 000z | 0001 | 0001 | <0001 | 0001 | 0003 | <000t | <0001 | 12
TN
T [<o001 = — 001 — = <0001 = | = = = = = = 001 = = 001 | 4
T 12| [ <0001 [ <0001 | <0001 001 | <0001 | <0001 001 <0001 12 | <0001 | <0001 <0001 | 0001 0001_| <0001 001 | <0001 | <0001 001 | 12
T 12 | [ <0001 [ <0001 | <0.00 001 | <0001 | <0001 | <0001 <0.001 [ <0001 | <0001 <0001 | <0001 <0001 | <0001 | <0001 | <0001 | <0001 [ <0001 [ 12
E T [<0003 - - 003 - - <0003 - 4] - - - - - - 003 - - [ <0003 |4
E [<0002 — — 002 — — 003 — 4] — — — — — — 002 — — 002 | 4
E T T <001 | <001 | <00t 1| <001 | <001 001 <001 T <001 | <001 <001 | <001 <001 | <001 01 | <001 | <oot 0 [ 12
E AT 12| [ <001 [ <001 | <oot 1| <001 | <oor | <ooi <001 12 | <001 | <001 <001 | <001 <001 | <001 01 | <001 | <oot 0 [ 12
i [<0001 - - <0001 - - 001 - | - - - - - - <0.001 - - <0001 [ 4
T s — 4 — — — — 4 [ a
LT T < <0001 [ 1 <0001 | <0001 | <0001 | <0001 | <0001 <0001 | 12
T 1 143 15.1 170 9 131 142 112
T - - 1 - - 7 - - 7 [ a
[ T = = 46 = = 0 = = = = 50 = = 5 4
mg/ I <002 — — €002 — — €002 | <002 — = <007 — — — — <007 = — <007 | 4
PEZ v 00001 mg/ILLF 1 <0.000001] <0.000001] <0.000001 | <0.000001 <0.000001 | <0.000001}<0.000001]<0.000001, <0.000001] <0.000001] <0.000001] <0.000001 | <0.000001 0.000001] <0.000001] <0.000001] <0.000001] <0.00000 <0.000001] 12
2 AFNAIRLFA—IL 00001 mg/ILLF 1 £0.000001] <0.000001] <0.000001 | <0.000001 <0.000001 | <0.000001}<0.000001<0.000001, <0.000001] <0.000001] <0.000001] <0.000001 | <0.000001 0.000001] <0.000001] <0.000001] <0.000001] <0.00000 <0.000001 12
A REE A 02mg/IL T 2 < < <0.002 X < <0002 | 4
[ [oz/—L8 005ma/IT <0.0005 <00005 | 4 |
[ s |EHEMEHERRE TOC) DE) me/IELT 04 06
&7 [pHiE 85I EB6ELT 68 69
[ [mk EETHNCE REGL —
CEd RETLLCE
[ 50 [ SELT
EENE L PR LIT
KEERERETRHEE
g p GIGKDEZS
BARE wies] | H3142 | Ri58 | Ri64 | Ri72 | Ris6 | Ri93 [ Ri101] Riii6[ Rii23] Roi7 | Re2a
! S RUZDILED 15mg/IAT = = — <0.0003 — — — — = <0.0003 =
2 UZILEH T (%) - - - <0.0002 - - - - — <0.0002 —
3 RUZDEEY 1mg/|IAT () = = = 001 = = = = — 001 —
4 EEES D) T - - - <0.0004 - - - - - <0.0004 -
5 [bTy mg/| - - - 001 - - - - - 001 -
6 _|FRLED (2-TFIAFIIL) mg/|. — — — 005 — — — — — 005 —
7 3 mg/| 1 <0.06 <0.06 <0.06 06 <0.06 <0.06 <0.06 <0.06 <0.06 06 <0.06
Ime/ILLT (E5E) - - - <0.001 - - - - — <0001 —
UT (B5%) - - - <0.001 - - — - — <0001 —
T CKBEEAT) | = = — 0 — = 0 = — — —
mg/ILLT - - - 06 - - - - - 06 -
0mg/ILAT 49 - - 6.4 - - 15 - - 55 -
3mg/ILAT - - - <0.0005 - - - - - <0.0005 -
| 1 AFL-t-TFLI—TIL 02mg/ILLT - - - <0.001 - - - - - <0.001 -
[ mg/ LT = - = 09 = - = - = i1 =
[ BT = - = < = - = - = < =
[ -1~0 = = = 26 = = = = = -2 —
20008 % #/mi LU T (87%). 12 0 0 0 0 0 0 0 0 0 0 0
0.1mg/ILL T 2 - — - <0.001 - — - — — <0.001 —
AL o5
WINATEY SR NESEE(PFOS) R UY é‘bT;gtgrgrS;f}
N NINARE) B ANE] ALTLAE:
0 |NLInA D955 BPFOA) Sa (ProA DEOH [ T <oo00002) - — I R T | o000z~ - - 3
&L T0.00005mg/LEL
T (EE)
KB EE B REDLOMA N EBALNZE
EEBERE RIS K
., . 2 RIS
=2 kel KUARER E_}mu RI58 | Ri64 | Ri72 | Ri86 | Ri93 | Ri101 | RIIT6] Ri123] R217 | Ro24 | R233 | dmik B BA
EFRES (mS/m) [KEEEGL = = = = = = = = = = = = = = = =
2 [7AAIE (mg/) [ KEEFTL = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = =
3[BT ERRIERE (£260) KEEELL = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = =
T ESTRER (mg/l)_ | KEEEBL - = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = =
s [puFkzRUSY L [ﬁ;ﬁ 3;;3{] KEEELL 2 - - - 0 - - - - - 0 - - 0 0 0 2 - - - 0 - - - - - o - - 0 0 0 2
6 |SPLUT [T;Z; g;;‘;{] KE R 2 - - - 0 - - - - - 0 - - 0 0 0 2 - - - 0 - - - - - 0 - - 0 0 0 2
T | REEFRER B/ 100m) [ KEEREL = = = = = = = = = = = = = = = o = = = = = = = = = = = = = = o
(NEFEIEFE) (mg/I) [KEEEALL = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = =
o [20> (@U) (mg/) [ KEEELL = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = =
10 [70824)ka Cu /D) [REEEGL = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = =




TR25—HH4EE KRBRERER Bk Bk L33 KEA)

KERERER TR
== 5 ]
& RE R R R3105 | Ra11.9 [ R3127 RATS RA126
= 252 169 83 218 10
= 11.0 103 94 69
100 A mBL T 0 0 0 0
[ [Zm® HahBCE TRE | TBE BT TR
[ 3 [HFSOLRUZDIEED 003me/ILLT 4 <0.0003 <0.0003 -
[ ¢ [XERUZOEED 0005me/IEL T 4 - <0.00005 <0.00005 -
LU RUZDEEN Olme/I 4 - - - <0.001 <0.001 -
BRUZOIEEY Oimg/! 12 0001 | <0001 | <0001 | <0001 | <0001 | <0001 | <0.001 <0001 0,001
EFXRUZOLED Olme/! 4 0.00 - - 0.001 - - <0001 <0.001 -
s |AfoOLEEn e T s | 4 || <0002 - - <0.002 - - <0002 <0002 -
9 |EHEBEER ame/ 1L <0.004 - - <0.004 - - <0.004 - - <0.004 - - <0.004 | <0.004 | <0.004 <0.004 - - <0004 - - <0.004 - -
10 S APAAVRUEIL TS 1mg/ L <0.001 - - <0.001 - - <0.001 - - <0.001 - - <0001 | <0.001 | <0001 <0.001 - - <0001 - - <0.001 - -
U |EREERRU BB EER me/ILLT 7 - - - - - - - - - 2 - - - -
12 [7yRRUZDEED me/ LT 5 - - - - < - - <0.05 - - - - = - =
13 |KIRRUZDIEEY me/ LT | <002 - - 2 - - <002 - - <002 - | - - 2 - - 2 - -
IR EETES 002me/IELT- [<0000z [ - - [<oo002 [ - - [<oo00z] - - [<o0002 [ - 4] - - [<ooo02 | - - <0000z - -
05mg/IAT [<00005 [ - - [<00005[ - -~ [<00005 [ - - [<00005 - | - - <0001 - - <0.001 - -
004mg/ I 4 || <0001 - - <0.001 - - <0.001 - - <0001 - 4 - - <0.001 - - <0001 - -
2me/ LT [ <0001 - - <0001 - - <0001 - - 0001 - | - - <0001 - - 0001 - -
me/IL [<00005 [ - — [<o0005 [ - — [<ooo0s |- — [<o0005 [ - 4] - — [<oooos |- - [<oo005 [ - -
me/IL [<00005 [ - — [<o0005 [ - — [<ooo0s |- — [<00005 - 4] - — [<oooos |- —_[<oo005 [ - -
me/IE [<0.001 - - <0001 - B <0.001 B - <0001 - - - <0.001 - - <0001 - -
mg/ILL T 12 |["<006 | <006 | <006 06 | <006 | <006 06 | <006 | <006 06 | <006 12 ] <006_| <006 06 | <006 | <006 06 | <006 | <006
2me/\L T [ <0001 - - 001 - - <0.001 - - 00 - - - 001 - - 001 - -
6me /1T T <0001 | <0001 | <0001 001 | <0001 | <0001 | <0001 | <0001 | <0.001 001 | <0001 T <0001 | <0001 001 | <0001 | <000t 001 | <0001 | <0001
Amg /1T T <0001 | <0.001 | <0001 | <0.001 | <0001 | <0001 | <0.001 | 0001 | <0.001 001 | <0001 12 ] <0001 | <0.001 001 | <0001 | <0.001 001 | <0001 | <0001
5| mg/ IR 12| [ <0001 [ 0001 | <0001 001 | 0001 | <0001 001 | 0007 | 0001 001 | 0001 T 0001 | 0001 001 | 0001 | 0,001 001 | 0002 | 0001
| 26 fi& - me/IE T 12 | [ <0001 [ <0001 | <0001 007 | <0001 | <0001 | <0001 | <0001 | <0.001 001 | <0001 ] <0001 | <0001 001 | <0001 | <0007 001 | <0001 | <0001
NN
27 | (gnnfnh, 57 nEAONASY, 7%y Anss [0 1me/IAT 12 || <001 | 0001 | <0001 | 0001 | 0001 | <0001 [ 0001 | 0004 | 0002 | <0001 | 0001 | 0002 | 0004 | <0001 [ 0001 | 12 || 0002 | 0001 | 0002 | 0001 | 0001 | 0001 | 0002 | 0004 | 0003
Dt TN
T - 001 - - <0001 B 001 | <000t 001 | 4 |[ <0001 - B 001 B - -
T T <0001 001 | <0001 | <0001 | <0001 | 0002 <0001 | 0,002 | <0.001 001 | 12 |[~0.001 | <0001 | 0001 .001_| <0001 | <0001 0002
T 1 <0001 | <0.001 | <0001 | <0001 | <0.001 | <0001 <0.001_| <0001 | <0.001 001 | 12 | [<0001 | <0.001 | <0001 .001_| <0001 | <0001 0,001
E T - 003 - - <0003 - - 003 | 0,003 003 |4 |[ <0003 - - .003 - - -
E - 002 - - 002 - [4 | [<0002 - - 002 - - -
E T T <001 001 | <001 | <001 01 | <oot T 0 | <001 | <oot1 1| <oor | <oot <001
E AT 1 <001 001 | <001 | <001 01 | <00t [ 12 | [“<o01 [ <001 | <oo1 01| <001 | <00t <001
E - 001 - - <0.001 - 4 | [Cooot1 - - 1 - - -
T - 8 - - 07 - 4 |[e2 - - - - - - -
LT T <0001 | <0.001 | <0001 | <0001 | <0001 | <0001 [ 001 | <0001 | <0001 | <0001 | <0001 | <0.001 <0001 | <0001 | <0001 | <0001 | <0001 | <0001 | <0.001 | 12 <0001 | <0001 | <0001
T 1 105 10. 105 98 09 123 137 K} K] 116 116 121 113 112 108 9 08 il 12 96 8 123
T - 12, - - 63 - - - 140 - - - 24.1 - - 1 14 19 4 72 1a. 204
[ T - 54 - - 46 - - - 43 - - - - 72 - - 72 ] 57 4 80 39 5
2mg/ I €002 - - <002 - - €002 - - €002 | <002 - - <002 - - - - <002 - - <002 | <002 | <002 | 4 <002 <002 <002
PEZ v 00001 mg/ILLF 1 <0.000001 | <0.000001 | <0.000001| <0.000001 | <0.000001] <0.000001 | <0.000001 <0.000001 | <0.000001}<0.000001]<0.000001, <0.000001] <0.000001] <0.000001] <0.000001 | <0.000001 0.000001] <0.000001] <0.000001] <0.000001] <0.000001]<0.000001{<0.000001{<0.000001| 12 <0.000001 | <0.000001 | <0.000001
2 AFNAIRLFA—IL 00001 mg/ILLF 1 <0.000001 | <0.000001 | <0.000001| <0.000001 | <0.000001] <0.000001 | <0.000001 <0.000001 | <0.000001}<0.000001<0.000001, <0.000001] <0.000001] <0.000001] <0.000001 | <0.000001 0.000001] <0.000001] <0.000001] <0.000001] <0.000001]<0.000001{<0.000001{<0.000001| 12 <0.000001 | <0.000001 | <0.000001
AL REE R 02mg/ILLT 2 2 < < <0002 X < <0002 | <0002 | <0002 [ 4 <0002 | <0002 | <0002
[ [oz/—L8 005ma/IT <0.0005 <0.0005 | <0.0005 | <0.0005 | 4 |[7<0.0005 | <0.0005 | <00005
[ s |EHEMEHERRE TOC) DE) me/IELT 06 06 09 04
[ 47 [oHIE SUEBOLUT 638 6.9 69 73 68 69
e [ RECTHLCE REGL|  — = = — —
CEd RETHLCE REGL — — BE REGL —
[0 [ SHEELLT < < < <1 < <
[ (B 2ELT <01 01 <01 <01 <01 <01
KEERERETRHEE
R4;
BARE eas] [ RaiS5 475 | R489 | RA96 | RA104 | RATIB [ RAI26
1 Y RUZDIEEYD 15me/ LT <0.0003 <0.0003 - - - - - <0.0003 | <0.0003 | <00003
2 UEDILEN T (BE) <0.0002 <0.0002 - — - — - <0.0002 - > | [_<0.0002 | <0.0002 | <0.0002
3 RUZOLEY Ime/ AT (E5E) 001 001 — — — — — 001 — | |_0.000 <0.001 <0.001
4 EEES D) T <0.0004 <0.0004 - - - - - <0.0004 - 2| <0.0004 <0.0004 <0.0004
5 [bTy mg/| 001 001 - - - - - 001 - 2| <0.001 <0.001 <0.001
6 [JFNED (2-ITFAAFIIN) mg/| 005 005 — — — — = 005 = | [_<0.005 <0.005 <0.005
7 i mg/|. 1 06 06 <006 <006 <006 <006 <006 06 <006 — — —
Ime/ILLT (E5E) <0001 <0.001 - — — — — <0001 — — — —
UT (B5%) <0.001 <0.001 — — — — — <0001 — — — —
T CKBEEAT) | — [ = — 0 — = — = 0 [ [
mg/ILLT 06 06 - - - - - 06 - - - -
0mg/IAT 48 38 = = 72 = = 59 = = 72 38 56 | 4 | = = =
3mg/ILAT <0.0005 <0.0005 - - - - - <0.0005 - - <0.0005 | <0.0005 | <0.0005 | 2 | <0.0005 <0.0005 <0.0005
| 1 AFL-t-TFLI—TIL 02mg/ILLT <0.001 <0.001 - - - - - <0.001 - - <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
[ ! mg/ILLT 16 12 - - - - - 16 - - 16 12 14 2 02 10
[ LT < < = — = — = < = = < < < 0 < <
[ ! -1~0 -27 29 - - - - - 26 - - 26 -29 28 -22 -29 26
20008 % #/mi LU T (87%). 12 0 0 0 0 0 0 0 0 0 1 16
0.1mg/ILL T 2 <0.001 <0.001 - - - - - <0.001 - - <0.001 <0.001 <0.001 <0.001 <0.001 <0.001
AL o5
WINATEY SR NESEE(PFOS) R UY ﬁ;pT:;gt;Pr(;s;%
N WINATE) R AN ALTLAE:
20 ALINATA DAY E(PFOA) E (Prom) DEDR| T <0.000002| - - <0.000002 - - <0.000002 - - <0.000002] - - 0. 4 <0.000002| - - <0.000002 - - <0.000002 - - <0.000002 - - X X 4 <0.000002 | <0.000002 | <0.000002
&L T0.00005mg/LEL
T (EE)
KB EE B REDLOMA N EBALNZE
IREREEE
&S BERE Kl kB REFK
Ra15 [ R421 R431 BX TN R445 | R4510] R467 | R475 | R4BO | R496 | R4104 ] R4TIB[ RA126 BX BX E
EFRES (mS/m) [KEEEGL = = = = = = = = = = = = = = = = = = = =
2 [7AAIE (mg/) [ KEEFTL = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = =
3[BT ERRIERE (£260) KEEELL = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = =
T ESTRER (mg/l)_ | KEEEBL - = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = =
5 |QUTRRRYTHL [’i;ﬁ 3;;3{] KE R 2 - - 0 - - - - - - 0 - - 0 0 0 2 - - - 0 - - - - - 0 - - 0 0 0 2 0 0 0
6 |SPLUT [Eiﬁ g;;‘;{] KE R 2 - - 0 - - - - - - 0 - - 0 0 0 2 - - - 0 - - - - - 0 - - 0 0 0 2 0 0 0
T | REEFRER B/ 100m) [ KEEREL = = = = = = = = = = = = = = = o = = = = = = = = = = = = = = o - - -
(NEFEIEFE) (mg/I) [KEEEALL = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = =
o [20> (@U) (mg/) [ KEEELL = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = =
10 [70824)ka Cu /D) [REEEGL = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = =




